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Subtraktion	6
Mattip	om	Løs	minusstykkerne.	

	
	
	
	
	

Indsæt	det	tal,	der	mangler.	

	
Løs	minusstykkerne.	

	
	

	

	 	 	 	 	

5	 10	 7	 15	 20	 9	
	
	
	

1	

3	

50	–	22	=	______	 50	–	44	=	______	 		

50	–	40	=	______	 50	–	37	=	______	 		50	–	49	=	______	

50	–	11	=	______	 50	–	18	=	______	 		50	–	25	=	______	

	 	
2	

80	–	______	=	40						20	–	______	=	11						47	–	______	=	36			

20	–	______	=	11						33	–	______	=	10						90	–	______	=	55	

65	–	______	=	30						72	–	______	=	12						66	–	______	=	14	
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